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QUESTION 1

Refer to the exhibit.

Cartroller VM
10.55.45.31
disconnected from
yetwork

Dessfipbion

Controlles VM 10854831 I8 not reachabie ‘rom Controler VM 10,538,246 29 in the Bt 3 attahpts.

An administrator reviews the error in the exhibit then examines the state of the cluster. The administrator finds that the
AHV host is up and functional, but the cluster capacity is low.

What will happen to the VMs on the host with this Controller VM?
A. They will reboot onto other nodes in the cluster.

B. They will shut down and be orphaned on the host.

C. They will remain on the current host.

D. They will be shut down unless protected by a Protection Policy.

Correct Answer: A

QUESTION 2

Refer to the exhibit.
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Select the driver to install

| Fed Hat Virth 5051 pass- throwugh controlier (B @it IS vnsost inf)

Hide drrvers Hhdk gren't £ abible wath fha computer f Barcha pee

In which VM creation stage will the administrator see this dialog?
A. Upgrading Nutanix Guest Tools

B. During OS installation

C. During image sysprep

D. When powering on a UEFI VM

Correct Answer: B

QUESTION 3

An application owner had reported that an AHV-based critical application VM is performing very slowly. After initial
diagnostics, it has been observed that the CPU utilization is significantly higher than normal.

What two actions should the administrator take on this VM without shutting it down? (Choose two.)
A. Increase number of vCPU in Prism Element

B. Configure additional cores in acli

C. Ensure CPU hot-add is supported by the Guest O

D. Use PrismElement to increase the number of cores

Correct Answer: AC
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QUESTION 4

An administrator needs to replace a node in a three-node cluster. The health status for the environment is good and the
cluster is able to support a single node failure.

Which step must be performed first?

A. Remove the failed node from the cluster
B. Verify hypervisor versions

C. Plug in all network cables

D. Expand the cluster with the new node

Correct Answer: D

QUESTION 5

Refer to the exhibit.
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Data Resiliency Status 4 x

FAULT DOMAIN TYPE: HOST

oM POMENT ELfLURES TOLFRAELE I ESSAGE

Static i

Conflguration

ZookKeeper Q Desired faull tolerance for

Zookeeper is 1 bul we can

tolerate only Q' node fallure(s)

Slargate Q Based on unhealthy node hst
Heaith (5.} the cluster can tolerate a
maximum of 0 node fallure(s)

Oplog 1

Metadata o Metadata ring partitions with
nodes: 192168133,
192168.1.31, 192.16B1.32 are
not fault tolerant.

Extent Groups: 1

Erasure Code 1

An administrator notices that the Data Resiliency Statue of some components has been reduced to 0.
making it impossible to support a

node failure in the cluster.

What type of failure is most likely the cause of this issue?

A. Block

B. Disk

C.CVM

D. Nods

Correct Answer: C
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